run_13034097 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 3 23:39:10 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 23:50:11 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13034097 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD

Fri Feb 3 23:50:43 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

7 fE—
=
==
=
50 p=——

40 é
30
20
=
=
10 f=—
=
0%

[ADC RMS for

RDO=1,ARM=0,APV=1 "}

RMS (ADC-ped)

APV channel

[CADC RMS for

RDO=1,ARM=0,APV=2 |

RMS (ADC-ped)

APV channel

50 [
40

30 |-

[CADC RMS for

RMS (ADC-ped)

[[ADC RMS for

RMS (ADC-ped)

20
10 [ - .
o = i i i i i

0 20 40 60 80 100 120

APV channel

RDO=1,ARM=0,APV=3 }

— 5 5
) |Ee—p=co{flooscssssssad foascoososossesasaasascadhonssssssasaasaasansnnd hososessesasansasssnsadbosssasaasaasansosossadheaasasassnsnssssssaadhannnsns

[ : :
20— ] s f—ogrnacacasacallldfbeadhEhocoanacocascoanonad % oooomnoosadlbpnacacaodhacanacacananaal|dfhacaadhacacnanacosascoanoscodbosanana

= : : :

= 5 5 :
o = i i i i i i

0 20 40 60 80 100 120

APV channel

RDO=1,ARM=0,APV=4 "}
o e - S U SO SO NN SO
40 | o B e T O ¥ R L R R TR P R PR PR T § SRRt
30 p——=----{q- kb -1 - 3 RREEI BN BF BN 3 SEEREE J EAEE U] K EERE EEEEEEEEEY SEE SRR A KRR R d A R E K N e R
20 e e e e T e TP P ] e Al CEEE T RECEE
10 e ARRLALAEELLEEEEELEEE I LR LR AR R LR L LR R Rl AEREE R LR P
o i i i i i i

0 20 40 60 80 100 120

APV channel




run_13034097 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 3 23:39:35 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 23:50:12 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 23:50:45 2012
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run_13034097 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 3 23:40:01 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

2000

3000 4000
raw ADC

ADC for FGT RDO=1ARM=0APV=13 |}

ADC-ped

=
°N

I
3000 4000
raw ADC

1 1
0 1000 2000

[ ADC for FGT RDO=1.ARM=0.APV=14 ]
—

ADC-ped

3000 4000
raw ADC

i it
1000 2000

ADC for FGT RDO=1,ARM=0,APV=15

1000

2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=0.APV=16 _§

0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 = -
=
2500 f=— 1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
ofE—
= i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—r|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 f=—|- - -
=
) =
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
0fE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
2 0 0 0 0 0 g
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

.. . e A

10

10°

10

10

10




run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Fri Feb 3 23:50:14 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13034097 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Fri Feb 3 23:50:46 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

60

50

RMS (ADC-ped)

40

30

20

10

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

50 p—

40

RMS (ADC-ped)

30

20

10

ST T TEE

APV channel

[CADC RMS for RDO=1,ARM=0,APV=15__}

T =
A 40 fm—
8 —
€ 35 P—
g —
g 30 =
25 f=—
H
20 FRHH- -
H
Nl
ommn o i
£l
H
10 |5
5 f= .
o = i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=16 }

40

—
—

35

30

RMS (ADC-ped)

25
20
15

10

APV channel




run_13034097 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 3 23:40:25 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 3 23:50:15 2012
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run_13034097 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Fri Feb 3 23:50:47 2012
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run_13034097 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 23:40:50 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 23:50:16 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 23:50:49 2012
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run_13034097 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 23:41:15 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 23:50:26 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 23:50:59 2012
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run_13034097 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 23:45:10 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 23:51:00 2012
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run_13034097 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Fri Feb 3 23:45:12 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 23:50:27 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 23:51:00 2012
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run_13034097 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Fri Feb 3 23:45:39 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 23:50:28 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA

Fri Feb 3 23:51:01 2012
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run_13034097 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 23:46:04 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB

Fri Feb 3 23:50:29 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=2}

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

i
20 40 60 80 100 120
APV channel

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13034097 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 23:51:02 2012
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run_13034097 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Fri Feb 3 23:46:34 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 23:50:31 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 23:51:03 2012

[ADC RMS for RDO=2,ARM=0,APV=5 ]
= [—
g 140 p—
S L
o) L
< 120 f—
%] —
=
z —
100 p—
& [
60 H
ni
a0
20 | :
o iE i i i i i i
0 20 20 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=6 }
= =
2 45 PR - e i
9] EH
2 40 A
@ FH
= 35
(5 EH
30 (5
=
20 E_
15
=
5
i
o 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=7 }
g EY
-3
2 80
<
] 70 =
&= —
60
50 =
40
30 E
20 P=
10
i i i i
® 20
APV channel
[ADC RMS for RDO=2,ARM=0,APV=8 _}
=
g
9]
[=]
<
%]
=
['4

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

APV channel




run_13034097 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 23:47:01 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 23:50:32 2012
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run_13034097 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 23:51:05 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC

Fri Feb 3 23:50:33 2012
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run_13034097 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 23:51:06 2012
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run_13034097 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 23:47:50 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 23:51:07 2012
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run_13034097 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Fri Feb 3 23:48:31 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 23:50:34 2012
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run_13034097 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 23:51:07 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

220 [

200
180
160
140
120
100
80
60
40
20

0

off
T

20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

45 E
40
35
30
25
20 =
15

10

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

45
40
35
30
25
20
15 f—/—

10 P=

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

80
70
60 .
50
40
30

20

APV channel




run_13034097 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 23:49:00 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 23:50:35 2012
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run_13034097 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 23:51:08 2012
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run_13034097 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 23:49:29 2012
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run_13034097 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC

Fri Feb 3 23:50:37 2012
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[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

1500

1000

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=2,APV=20 _}
5 [ T
g : :
S — :
8 e R LR R R e e R R R PR P PR
2 — :
> - :
g — :
= b 5
1000 P r = e e e e e e e s PR P P PP PR
i i i i i i i
=y Q 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

1500

1000

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel
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